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Combined Graduate Level Examination 2020 Tier-l
[Roll Number
Candidate Name

Venue Name iON Digital Zone iDZ 1 Sector 62

Exam Date 23/08/2021

Exam Time 3:00 PM - 4:00 PM

Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 g fwe g3 R Wem e gk A 3¢ ave @ Hdfta § 9 - e e de 6t wemd
TP g A el g1
(44, 24, 132)
Ans X 1.(16, 26, 186)
X 2. (46, 22, 306)
X 3.(32, 28, 250)

o 4. (56, 26, 182)

Question ID : 81616113833
Status : Not Answered
Chosen Option : --

Q.2 g3 fawey g S 9t e 9 I YR Haitd 3, o ueR gudt W @ usd! wen
3R B! TEI | uradl HE e fia g1
485:25::7?:21::401:23
Ans X 1.246
X 2.346
o 3.325
X 4.225

Question ID : 81616113830
Status : Not Answered
Chosen Option : --

Q3 ggﬁmgﬁwﬁ?ﬁﬁwﬁwﬁmiﬁfﬁa%ﬁmwwwmwﬁm
I

ETd STEAT : ol BT 2 P : 2
Ans X' 1 YD

o 2.37

X 3§D

X 4. 3

Question ID : 81616114125
Status : Not Answered
Chosen Option : --
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Q.4 g3 fawe go Rrad Tt Te gak & 34 @ @ Tefta ¥ 99 R Ry e I 9 st
TP g & Haifda &1

(47, 64, 55)
Ans X 1.(28, 25, 34)
X 2.(36, 100, 47)

& 3. (46, 49, 53)
X 4. (56, 80, 64)

Question ID : 81616113832
Status : Not Answered
Chosen Option : --

QS5 & % dfie # HzH wF uF Fmn awr ¥ 5w BEE w= A e § @ Siew vew oE waEl $
i ol W HTOI?

it X113k e

Question ID : 81616113838
Status : Answered
Chosen Option : 2

Q.6 g% T fAidpeu g4 ot 3T 7T wrdi &) 39 % A guifar & Rrad 3 el wregetw § omd €1

1. Cardinal

2. Cartography
3. Cardiac

4. Carrot

5. Callous

6. Careless

Ans X 1.53,1,6 24
o 2.5,3,1,6 42
7$3.53,1,4,6,2
X 4.51,3,6,4,2

Question ID : 81616114122
Status : Answered
Chosen Option : 2
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Q7 fw v Reedt & ¥ 77 g 9F S =T gmer F geafres (7) F T o e

Hi_ i

o i
-

Ans

x 1.

Question ID : 81616114139
Status : Answered
Chosen Option : 3

Q.8 Tfortta gl &1 98 T8t WaieH gH o e ¥U 3 * gl & M R 3@+ S aifieson
wgfera gt srem|
14*7*39*133*19* 130
Ans X 1.+ — + x =
K2.+’+!—,X’:
x3_x,_,+’+‘=
ﬁ?4_x,+,7,+1:

Question ID : 81616113834
Status : Answered
Chosen Option : 4
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Q.9 ‘A#B’means ‘A is the brother of B’.
‘A @ B’ means ‘A is the daughter of B’.
‘A & B’ means ‘A is the husband of B’.
‘A % B’ means ‘A is the wife of B’.

FWEQ@T&Y @M % K’, then how is K related to T?
Ans X 1. Mother

#5 2. Father
" 3. Father-in-law
#< 4. Mother-in-law

Question ID : 81616113726
Status : Answered
Chosen Option : 3

Q.10 7 19 TS 2000 FH FUAR AT, A 15 7 2012 FH HI-A1 a7 U412
Ans 5 1. TRAR

X 2. gyaR

X 3. TMER

o 4. PR

Question ID : 81616113734
Status : Not Answered
Chosen Option : --

Q.11 fpeft fafRe Heumar # 'DARK' #Y 'CBQJ’ & U H 3R ‘SOUND’ &Y ‘RPVMC’ & =J &
foram irar 81 Y I 4TI § ‘ToXIC’ B S fRrar s

Ans X 1.PUYJD
< 2. SNWHB
« 3.SPWJB
< 4. UPYJD

Question ID : 81616113824
Status : Answered
Chosen Option : 3

Q.12 5t fafry Heumar &, ‘PRINTER’ 1 ‘11181814759’ 3R ‘LOGIC’ FI ‘151520924’ & =Y
o Feas forar a1 ], @t I UTaT  TERMITE’ 61 $) Teas far wimem?

Ans o 1.75913182022
5 2.2059131875
/5 3.7591418205
< 4.75181392022

Question ID : 81616113825

Not Attempted and
Marked For Review

Chosen Option : --

Status :

https://ssc.digialm.com//per/g27/pub/R207Hislickatanb/AdsesiindhgPeITMUVcaeTI/ 2207001 8212207021 B2&A3 768761 6208767327498687/22010...  4/30



9/2/2021 https://ssc.digialm.@UM@@YMbM@ﬂt@u@atp@t@d@mtwwwu@qw/{g@m%q@TQZ1 82533D76876/1629876732749...

Q.13 1 IR guf-aE T e & ford A i ot weuf & ve gu § 8l 3 | U eRi e
?1 I SR JUI-THE BT TG DI

Ans

< 1.BFLT
X 2.LPVD
< 3. TXDL
o 4.LOUC

Question ID : 81616114123
Status : Answered
Chosen Option : 4

Ans

Q14 # wgfa & F9s F v gFE A Aww FFA AR IW qF g FOS A A F alw Qi

¥ =@ FOS Fr Wele 9T IF HaT REEm?

-

[
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o0
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Question ID : 81616113740
Status : Answered
Chosen Option : 1
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Q.15 7 IR Teg 2T 7Y & R @ i fpeht Tyl & v wam € o 7 @ U 3R 81 359
ST Xeg HT I B
Ans X 1. 3ford
X 2. Sulffad
X 3. 3R
o 4. D

Question ID : 81616113821
Status : Answered
Chosen Option : 4

Q.16 =it 35 57 TE==T = T 5, TwH 99 F Faw F BE 39 o gawr weleaw T & gaar
gl

v . e, o, @

X 2. o5, FARN, T

X 3. greR, wgfhar, Afgae
X 4 THAICE, HST, FAAUNRT

Ans

Question ID : 81616113842
Status : Answered
Chosen Option : 1

Q.17 13 IR TEn-gw e U § fomd & fiF 5 e § ve wwe § ok IH | T riva
B 3 SR HBI-W BT 79 B |
Ans X 1.11:242
o 2.19:622
< 3.12:288

X 4.14:392

Question ID : 81616113831
Status : Answered
Chosen Option : 2

Q.18 i 7 faweul ¥ & 98 = gH Wt Fufafad @ # uylg (7) & R w g
18, 29, 42, 59, 78, 101, ?
Ans X 1.137
o 2.130
X 3.125

X 4121

Question ID : 81616114132
Status : Answered
Chosen Option : 2
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Q.19 faw ¢ faweul ® & ag qui-agg g+ o Fafafeaa saar o vufrg (2) F =E w smgm?

YTUQ, XVRU, ?, VZLC, UBIG
Ans X 1. WYOX

< 2. wyoy
X< 3. WXPY
o 4. WXOY

Question ID : 81616113717
Status : Answered
Chosen Option : 4

W0 & s g # e e 2

Ans w111
x2 12
X3 9
X410

Question ID : 81616113837
Status : Answered
Chosen Option : 1

Q.21 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Pedology : Soil
Ans X 1. Cytology : Metabolism

5 2. Hepatology : Blood
< 3. Seismology : Pressure
" 4. Pomology : Fruits

Question ID : 81616113722
Status : Answered
Chosen Option : 4
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Q22 zz faweT o S & T iy F wfART T # oaEer A )

Question ID : 81616113738
Status : Answered
Chosen Option: 4

Q.23 fy T HyAT 3R Frswel B e A 0 | Hul B & TS SHER) B W W gY, WA g
98 9T U J 71 a2 F U wdia 8, ﬁufﬂaaﬁﬁ?aﬁqﬁﬁw&%qm$u=ﬁm
A U F FER0T B B

DY

#Ig W a=aren, fesa! g 81
g W ¥, RareT TE 81
Tt srerTiat, fEsat B

foren:

. $B e, Y& gl

1. 1S ot Sraw, Saren T8t 81
. #1s Wi ¥, st T8 21

Ans 2 1. FHad FBY || STERY BT §
X 2. K ¥ FIept SgeRvl T el §
7 3. baa by | 3TERU BT 7
X 4. Pad Frepd | 3R 111 3ER0 B ©

Question ID : 81616113828
Status : Answered
Chosen Option : 1

Q.24 34eRY F I TS BT TG B3 ot &) 75 ggen § Rad ==l § Hie oA @R w®
YT B YUl H

JP_LD_P_MDJ_C_D_PC_D
Ans X 1.C,J,C,P.N,P,O

o 2.C.J.C,PN,J,0

2 3.C,J,N,PO,J,0

2 4.C,J,C,PO,JP

Question ID : 81616113725
Status : Answered
Chosen Option : 2
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Q25 zfy zdor Fr MN 9T T@T ST § aF 2T a0 g9e 1 T g9uT sfates Tafaag 1

FEq3267G

" < 9YdZEpAT
:dY9S€p3d
. 9Yasep3aid
«~9.l3SepId

Question ID : 81616113739
Status : Answered
Chosen Option :'3

Section : General Awareness

Q.1 Which of the following is NOT a traditional water storage structure?
Ans X 1. Tanka

< 2. Johad
< 3. Kund
o 4. Haryali

Question ID : 81616113752
Status : Answered
Chosen Option : 4

Q.2 e & @ ey e i § ATH B
Ans 1.8’[51@'[%

x 2. e

X 3.33%

X 4. B

Question ID : 81616113844
Status : Answered
Chosen Option : 3
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Ans

Q.3 g d A oH-u1 JTauuTd 7 vew § fRa 82

X 1. GIEURT
X 2. QTR
X 3. Raggey

o 4. Y3ffaR

Question ID : 81616113852
Status : Answered
Chosen Option : 4

Ans

o 1. pead
X 2. grfadn
X 3. afdEra
X 4 pa

Q4 ST 2021 F 44 9 B g A Yog B YT B Iob URITd SRT BT A1 5 D A J3T22

Question ID : 81616113864
Status : Not Answered
Chosen Option : --

S

Ans

Q.5 ‘QSRAM’ HTH Fdax 2020 # T4 # UTI QSRAM TT &2

X 1. SR weTEIdr dfeiRes frmga o

o 2. FU G P Udg I 891 H IR $H=A dril (18 womeit

X 3. WoRia sifiyeferd eRute!
X 4. TH et gYIR yomeh

Question ID : 81616113765
Status : Answered
Chosen Option : 2

Ans

=

Q.6 The lowest temperature at which a substance catches fire is called its:

< 1. normal temperature
& 2. ignition temperature
25 3. boiling point

25 4. melting point

Question ID : 81616113847
Status : Answered
Chosen Option : 2

Ans

Q.7 yRdg w@fau™ A gudl srgE @ fPw wiea & Arenw | SisT T Ur?

2 1.53d
o 2.52d
X 3.42d
X 4.43d

Question ID : 81616113761
Status : Answered
Chosen Option : 3
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Q.8 g & A fpam sast 2021 F fora=T e A sifeeferar & f@aTw URa & fo fasrdt =
ATAT?

Ans X 1. TMCA BTHR
X 2. g RRre
< 3. qIRATe gar
o 4. FBIH U

Question ID : 81616114166
Status : Not Answered
Chosen Option : --

Q9 A ¥ A HH-U1 IR FT 371 T Bl g3 393 Me F) ave TR Fa1 82
Ans 2 1 P B U]

X 2.5y

X 3. 3fial &

X 4. 7Y (Fifed)

Question ID : 81616113849
Status : Not Answered
Chosen Option : --

Q.10 FdaR 2020 ¥ Y= HURA B Ugelt Wi Aar, Fafewr ik F g aadi @l
Ans XTW

X 2.ICDIC

o 3. 3BHAIEI

X 4. 381

Question ID : 81616114170
Status : Not Answered
Chosen Option : --

Q.1 AP R PR ¥, N1 Faiy vafawor pormie a gRT fear sirar @2
Ans X 1. ggfeRuflg /@A SR BRI

o 2. TTaRUNg SrgAfeaR R afda sma

X 3. AT 3R Ufa e 3m

X 4. AT R &R I

Question ID : 81616113744
Status : Not Answered
Chosen Option : --
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Q.12 1579 ® forg & A fpamt wgeR-man St fasam a2
Ans X 1. gAY
X 2. S8R
o 3. 3FR
X 4. <ITgeTgt
Question ID : 81616113855
Status : Not Answered
Chosen Option : --
Q.13 FUA &1 yeliep, R 2010 A YRa A =1 fobar Tam T, 98 FARHY T (Ra)' 3R R &1
T T g, S T RA F 31
Ans X 1. TRfers
o 2.0
X 3. el
X 4. 3fia faat
Question ID : 81616113846
Status : Not Answered
Chosen Option : --
Q.14 5 & | $9-9 RIFRARS, ToRTd | fRUd 372
Ans X 1. dldl BT HBHRT
o 2. YF-Dlara
X 3. 3MATS earaT
X 4. G BT AHRT
Question ID : 81616113843
Status : Not Answered
Chosen Option : --
Q.15 ggd yuIad g1 &; TR i ¥o1e] & STHTa & ST @ oY i dieft 8t ot &1 P &
} -1y fAeR gzl afvfa 82
Ans p 1 Tifer
X 2.3
X 3. Hel
X o4.qd
Question ID : 81616113750
Status : Not Answered
Chosen Option : --
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Q.16 g & | T 91 MearT ds o1 fwar g1 ur?
Ans X 1. Tfémor @ikt

X 2. YRd

X 3. siegferar

o 4. I 3R

Question ID : 81616114157
Status : Not Answered
Chosen Option : --

Q17 Mafigg Aaeuif T = AT
Ans 1 Hiddigd

X 2. T

2< 3. gdf

X 4.0

Question ID : 81616113856
Status : Not Answered
Chosen Option : --

S At

Ans o 1. TBRIY
X 2. &g
X 3. SRUW
X 4. 3y Ue

Q.18 e wed #) g, WY U Y H T ST UgA 8, A 2021 W

T § 3= B

Question ID : 81616114168
Status : Not Answered
Chosen Option : --

Q.19 fAg § T fFA were i A *HRd Sifpar ot Uty & A2
Ans X 1. gIdl pUA
X 2.dved

X 3. T ae
o 4. WISHT TG

Question ID : 81616113759
Status : Not Answered
Chosen Option : --
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Ans

Q.20 YR fEie F Yoea 10 TS 1857 P RS AgE R ag A WATa g5

2 1. 18 fdeR 1859 ! fowett
X 2. 15 3T 1860 BT it

X 3. 13 1S 1858 B! DIl
o 4. 20 ST 1858 & IR

Question ID :
Status :
Chosen Option :

81616113756
Not Answered

Ans

Q.21 URRIH WATE F TP 39] A b sifefio waTy] Hivg g 82

X 1a
X 2.1
X 3.dH
o 4.T9R

Question ID :
Status :
Chosen Option :

81616113850
Not Answered

Ans

Q.22 f3g ¥ A P9 ASqHT S ree W W (SRUT) F frgfea wwar 82

X 1. Ty

X 2. T 19 TG

3. gl

X 4. g B & T aranefer

Question ID :
Status :
Chosen Option :

81616113861
Not Answered

Ans

Q.23 g § @ o149 91 te 3o ed uaht 22

X 1.8R
X 2. IRY
X 3.4
o 4. 1

Question ID :
Status :
Chosen Option :

81616114151
Not Answered

Ans

Q.24 ufyed fefls (Ethical Religion) ATH® J&I® & AW® B 872

2 1. foar v

X 2. W faaerg
o 3. FETE TiE
X 4. g

Question ID :
Status :
Chosen Option :

81616114162
Not Answered
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Q25 @AAIFIYG IR MR ___ F S asT T 41|
Ans X 1.39
X 2. 3=
X 3.dRAd
& 4. 0T I

Question ID : 81616113858
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1

Ans

TF OfFa o 10% =M+ THgra wane X W 30,800 #r R 3 7§ F Fw zun o, Twd =
TEF T & TFGRE AT ¥ gE 99 F T H, 3 213,268 Fr Al F apEe fROm frew a9 oF

HA F, I0A HOT gHA & 0 Ix A AT x FOAH AT B

v 1. 26,400
x 2. 26,200
x3 26,510
x 4. 26,620

Question ID : 81616113875
Status : Not Answered
Chosen Option : --

Ans

Q2 v AR & $o T=at @ sited a== 40 kg ¥1 afy 36 kg st T=m T 5 = Rifaw & afaw @

AW @ TR 43.2 kg HET T9F 9 5 a= BT ¥ T ¢, & S Ryt &7 a== # sies 5=

TAR & ST A AR A FEw =

X1 35
X2 B0
X3 40
&4 45

Question ID : 81616113769
Status : Not Answered
Chosen Option : --

Ans

X186
V2 4
X3 2
x4 3

Q3 Ffx 9@ +b2)+c2+20=12(a+ 2b) 8, A V6a+9b+2c @ AT AT HLI

Question ID : 81616113880
Status : Not Answered
Chosen Option : --
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Q.4  ABCD, v whE Tg= & TEH 4= 128 =5y°£C=2x" AT 2D =%l (3x— ) 7= 7 B
Ans X1.120

« 2. 150

X3 60

x4 90

Question ID : 81616113781
Status : Answered
Chosen Option : 2

Q.5 TR, HOAT W F85% WY FIAT §1 T 3HF =W H « % F I I §, 79 F 60% Fr Ry @
T T A F 26% Fr IfF @F E, A« F oA A F=

Ans o 1. 20
X2 30
X3 26
X4 34

Question ID : 81616113872
Status : Answered
Chosen Option : 1

Q.6 Ry T RrEEmE 128 ot SART 9o H @ gofEr ¥ I T sewas #y AT wIF =7 seaw &)

35

25
20 -
15 +
10

ot wEn

0-15 15-30 3045 45-60 60-75 75-90
T R AT S

foraar afoera o1 1 60 ¥ FH 3T Tow gV 57
Ans X 1. 67.5%

X2 75%

3 62.5%

x4 725%

Question ID : 81616113081
Status : Answered
Chosen Option : 3
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Q.7 & o Tfoe = 3eTT #{ 3N WA e &

A, B, C, D 3R E Iigr et & suEwiidd WeuFHA (VC) & fore aAifsa o=t #r
HE=T|
ag

FEAE N 2013 2014 2015 2016 2017 2018

A 120 135 130 135 128 140

B 125 132 138 132 135 142

c 125 120 125 138 140 135

D 100 125 122 140 128 138

E 105 110 115 147 130 145

2014, 2015 #T 2017 # FeU= B & VC & A aiARhag o= $r dima §ear 3w 2013 3t 2018 &
TEaeT E & AT orEt #7 oftwa T F7 aevee g #+0

Ans X1 265
X2 255
X3 250
4 260

Question ID : 81616114092
Status : Answered
Chosen Option : 4

Q.8 & a& Ao &1 3T L T 9T F ek S

A, B, C, D 3t E uiT ¥eu=T H =ma@iis 9STFAT (VC) F T AATeg oEr $#ir
HE)
Gl

HEae 2013 2014 2015 2016 2017 2018

A 120 135 130 135 128 140

B 125 132 138 132 135 142

C 125 120 125 138 140 135

D 100 125 122 140 128 138

E 105 110 115 147 130 145

2015 & ¥¥U= A, B 3R D & VC & v Fwfed o & Fo @Ean, 2018 # #Euw C AR E #
T T T T § A g 3w 37 (e $ v fig a5 )

Ans X1 28.2
v 2 393
X3 36.8
X4 357

Question ID : 81616114094
Status : Not Answered
Chosen Option : --
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Q9 Z‘Jﬁ;;+ = 4sec8,0°<8<90°§,Eﬂ'c0t9+cosec9 FT AT AT FI

1-sin@ = 1+sin@

Ans &1 vrg

xo B3

3

X 3. 3@

x4 33

3

Question ID : 81616113886
Status : Answered
Chosen Option : 1

Q.10 fr ABC 3R DBC, 3afass &v7 BC arer Tsor fef=r &1 BD 3i¥ AC # 9@t W I P |
gieeofeg AT £1 AT PA =8 cm, PC =4 cm 3T PD = 3.2 cm ¥, & BD 1 o@E (cm #) &7
FTI

Ans o 1. 68
X256
X3 6.4

x4 72

Question ID : 81616113883
Status : Not Answered
Chosen Option : --

Q1 Fmnat 54, 49, 22 3 21 F F TF ¥ 1 F T W IS FEAT TATS F F (8x—25) I
(7x — 26) & HFTT 70d F

Ans X 1.5 - 4
2 29 : 24
X315 : 13
x4 27 . 26

Question ID : 81616113874
Status : Not Answered
Chosen Option : --

Q12 48 km/h Fr T T T IEETE, 3T B0 F 12 kmvh T F ToS T # 18 FeE F O AT
¥ 3 Rl Rer & o Afger 12 @9 & 9% i ¥ Afgen & @ (kmvh BH) AT #1

Ans g, 8
v2 6
X3 10
X4 9

Question ID : 81616113877
Status : Not Answered
Chosen Option : --
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Q.13 oF g Fe @ AT 1232 m ¥ Fa & GRE 3HT 7 m wie #@6 AR & dEea (m? #) 7
FI (n == AH)
Ans X 18800
2. 8778
#< 3. 8558
X 4 8756

Question ID : 81616113777
Status : Not Answered
Chosen Option : --

14 . ' .
a IfE sina 4+ sinf = cosa + cosf =1 E“.', ar sina + cosa = ?

Ans s 1. 1
X2 2
X3 -1
<40

Question ID : 81616114291
Status : Answered
Chosen Option : 4

Q15 o fasrar o7 11,800 F T el whe| 38 39 & 40% o= @1 15% iy W R aw F &
331 % Tyeiat B 20% = R A= T FATHT 10% T 9T w4 F B, 3% 9w B e ame

wferera X d=ar =nfge?
Ans 1 30%
X2 20%
<3 24%
x4 25%

Question ID : 81616114176
Status : Not Answered
Chosen Option : --

Q16 3fy 937 are TET 89x64287y, 72 ¥ = &, A (3x + 2y) F AT AT HY

Ans 1. 28
X2 25
X3 31
X430

Question ID : 81616113868
Status : Answered
Chosen Option : 1
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QA7 A apc, wweTg Tnger & W 57 18 om ¥ IR BC s Aig D s@ R § B BD = 2 BC, & AD
& Farg (cm #H) 7T F

Ans o 76
X2 643
X3 83
74 647

Question ID : 81616113784
Status : Not Answered
Chosen Option : --

Q18 g x+y+2z=2,23+y%+2° —3xyz=74%, @ (x2+y? +z2) F AF AT F
Ans 1. 26

x2 29

X3 22

x4 24

Question ID : 81616113881
Status : Not Answered
Chosen Option : --

Q19 7fE (2x+1)3— (x— 2903 = (x + 3Y)[Ax2 + By2 + Cxy] & & (A4 2B +C) & AT A &y

Ans X 1. 14
X217
v 3 10
X413

Question ID : 81616114182
Status : Not Answered
Chosen Option : --
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Q.20 fore o s Iut F Bl ST GERT s @rer o wle & PR ofr (2 e #) A oSt & S
ZINT & AT AN AW F JeAl (2 A H) & qATar g

= Frafema afa
= R T 9 g

2 8
g
£ = g
2 a5
2 =)
g B
8
i
o
2017

2012 2013 2014 2015 2016

B¥g888E8

za@d

2013 & 2015 & Fer H 1 TOT & fore PR 3o ofRr ok 2014, 2016 si 2017 & &R ==
1 T faghr &1 g Ad w1

Ans X 1. 27 : 56

X2 B84 : 37
X3 56 : 27
4 37 : 64

Question ID : 81616113083
Status : Not Answered
Chosen Option : --

Q21 & ifRwT &9 & T F v, X AR Y & gt & e 50 7 #1 X i Y fee i
70 & # U # TS §1 Ihe X F w4 % B A 42 GF aw e ot Gan s Y, O e
#r Fraa e & o wem?

Ans X1 ?2 %‘?‘_
X2 96 faa
v3 90 fea
x4 80 &

Question ID : 81616113876
Status : Not Answered
Chosen Option : --

Q22 54 160f3X[12+40f(6X3 < (11—2))] = (12+8 X2) F A AT HLI
Ans g9

X1 =

g

]
&2 =
16

x 3.

x 4

0w W

Question ID : 81616114172
Status : Not Answered
Chosen Option : --
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Q23 cosec 2 5
cosec(60° + A) — sec(30° — 4) + ﬁ FT HH AT HLI
Ans o 1. 1
X2 9
X3 0
xa -1

Question ID : 81616112979
Status : Not Answered

Chosen Option : --

Q.24 AABC # < A 77 TREfasT=%, =7 BC & fig D = fwar #1 af¥ AB = 12 cm, AC = 15 cm 3k
BC = 18 cm §, & DC & #=1s a0 4l

Ans 110 cm
X2 9 cm
X3 6 cm
X4 8 cm

Question ID : 81616114187
Status : Answered
Chosen Option : 1

Q.25 firalr svg @ T qow T180 §1 4, T AT AoU W 20% T W IES W, 25% N 9T FI F
T F HI 754 (T H) 79 H

Ans  X1.110.80
+ 2 115.20
x3.125.50
< 4.120.80

Question ID : 81616113871
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.

A family of young birds
Ans X 1.Kids
25 2. Litter
25 3. Offspring
«" 4. Brood

Question ID : 81616113913
Status : Answered
Chosen Option : 3
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Q.2 Select the option that expresses the given sentence in indirect speech.

Kruti asked Gopal, “Have you heard the news about the inauguration of the new
bridge?”
Ans X 1. Kruti asked Gopal if they have heard the news about the inauguration of the new

bridge.

< 2. Kruti asked to Gopal you have heard the news about the inauguration of the new
bridge.

< 3. Kruti asked Gopal if you have hear the news about the inauguration of the new
bridge.

" 4. Kruti asked Gopal if he had heard the news about the inauguration of the new bridge.

Question ID : 81616113795
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Many artisans were almost without any work during the pandemic.
Ans X 1. without any almost
#< 2. any without almost
#5 3. almost any without
«" 4. No substitution

Question ID : 81616113797
Status : Answered
Chosen Option : 4

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. It is essential for the marketer to study the behaviour of the consumers in order to
make better strategic marketing decisions.

B. The study of consumer behaviour is equally important for the non-profit
organisations such as governmental agencies, hospitals, NGOs, charitable
organisations.

C. Thus, by studying the consumer behaviour before and during purchase helps in
production scheduling, designing, pricing, positioning, segmentation, advertising and
other promotional activities.

D. If the marketer has complete knowledge about the consumer’s likings or disliking,
then he can predict the response of the potential customers towards his offerings.

Ans 2 1. ADCB
< 2. ACBD
< 3.BCAD
< 4.CDBA

Question ID : 81616113906
Status : Answered
Chosen Option : 3
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Ans

The balloon flew up / as soon as / the man cutting the string.

" 1. the man cutting the string
25 2. No error
#< 3. The balloon flew up

< 4. as soon as

Q.5 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If there is no error, select
‘No error’.

Question ID : 81616113893
Status : Answered
Chosen Option : 3

Ans

Q.6 Select the most appropriate ANTONYM of the given word.

Ramify

< 1. Insulate
< 2. Divide
5 3. Isolate
o 4. Unite

Question ID : 81616113910
Status : Answered
Chosen Option : 4

Ans

Q.7 Select the most appropriate ANTONYM of the given word.

Impoverished

« 1. Rich
< 2. Needy

25 3. deprived
25 4. Unlucky

Question ID : 81616114212
Status : Answered
Chosen Option : 1

Ans

Select the part that contains the error from the given options.

Q.8 The following sentence has been divided into parts. One of them contains an error.

It is misleading / to imagine that / computers can think / same like human beings.

2< 1. computers can think
5 2. Itis misleading
< 3. to imagine that

" 4. same like human beings

Question ID : 81616113894
Status : Answered
Chosen Option : 4
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Q.9 Select the most appropriate meaning of the given idiom.

A square deal
Ans  # 1. Afair agreement

< 2. An unfair agreement
< 3. A dishonest transaction

#< 4. A nice decoration

Question ID : 81616113911
Status : Answered
Chosen Option : 1

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. The mouse, however, reached his hole in safety.

B. A bull was bitten by a mouse, and, pained by the wound, tried to capture him.

C. The mouse, peeping out, crept up his flank and, again biting him, retreated to his
hole.

D. The bull dug into the walls with his horns until, wearied, he crouched down and
slept by the hole.

Ans X 1.ADBC
X 2.BCDA
& 3.BADC
< 4.DACB

Question ID : 81616114208
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Sameer gave very less information to Muneer about the progress of the work.
Ans X 1. No substitution

«" 2. gave very little information
25 3. gave very less informations

< 4. give very less information

Question ID : 81616113897
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate synonym of the given word.

Shimmer
Ans X 1.Shake
« 2. Shine
< 3. Shiver
< 4. Quake

Question ID : 81616113806
Status : Answered
Chosen Option : 3
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Q.13 Select the most appropriate synonym of the given word.
Uncanny

Ans X 1. Unprotected

< 2. Exposed

«" 3. Mysterious

25 4. Plain

Question ID : 81616113807
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option to fill in the blank.

The invention of fertilisers and insecticides has increased agricultural
required to feed the swelling population of the world.

Ans 1. output
< 2. goods
25 3. cargo
< 4. product

which is

Question ID : 81616113817
Status : Answered
Chosen Option : 4

Q.15 Select the INCORRECTLY spelt word.
Ans X 1.Inconclusive

" 2. Incandesent
< 3. Impervious
5 4. Impeccable

Question ID : 81616114219
Status : Answered
Chosen Option : 2

words.

An incongruous or chaotic mixture
Ans 1. Cacophony
25 2. Discord
25 3. Harmony
< 4. Melody

Q.16 Select the option that can be used as a one-word substitute for the given group of

Question ID : 81616113914
Status : Answered
Chosen Option : 1
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Q.17 Select the INCORRECTLY spelt word.
Ans X 1.Review

«" 2. Reciept
5 3. Deceive
25 4. Perceive

Question ID : 81616114218
Status : Answered
Chosen Option : 2

Q.18 Select the option that expresses the given sentence in passive voice.

The armed forces put up an impressive parade on Republic Day.
Ans X 1. Animpressive parade was being put up on Republic Day by the armed forces.

25 2. An impressive parade is putting up by the armed forces on Republic Day.
«" 3. An impressive parade was put up by the armed forces on Republic Day.

25 4. An impressive parade have been put up by the armed forces on Republic Day.

Question ID : 81616113895
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate option to fill in the blank.

It is said that civilised man has about twenty wild animals.
Ans X 1.staggered
#< 2. amazed
25 3. stunned

o 4. tamed

Question ID : 81616113917
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate meaning of the given idiom.

On edge
Ans X 1.Keeping things safely

2 2. Doing exercises regularly
#< 3. Playing a tiring game

«" 4. Nervous and unable to relax

Question ID : 81616113912
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
(3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank 1.
Ans 1. height

25 2. summit
X 3. peak
& 4. growth

Question ID : 81616114203
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank 2.
Ans X 1. call

2 2. idiom
< 3. example
o 4. term

Question ID : 81616114204
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
(3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank 3.
Ans 4 1.along

< 2. beyond
< 3. above
5 4. overhead

Question ID : 81616114205
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
(3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank 4.
Ans X 1.parade

25 2. boast
" 3. exhibit
25 4. flourish

Question ID : 81616114206
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
(3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank 5.
Ans X 1. growth

25 2. proliferation
< 3. spread

" 4. intensification

Question ID : 81616114207
Status : Not Answered
Chosen Option : --
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